8140 | 133HS Ov:1 :3T¥0S _ IHOEM
oowWNlUPH [0£5/ ﬁf.—-
144 olsp|d ‘|plaw ‘POOM 'PIOA 80y HIAS|O LN 4,
HsDIG o} P VRELYW ‘6 lUIOJSB A DOQNH.Q _H.Q _I—I nwh-..k
NO dojdydi >
VSINTHL 84ueD Aoid QAddv.
‘NOILI¥OSIa 81024021 soaRYW  [NMVAQ
NOISIAY va JANLYNOIS INVN

eeewt
“ON DM / ¥38WNN Lavd :Q34103dS ISIMITHIO SSTINN




81 40 T 133HS 09:1 :37vOS _ IHOEIM
d ~U__w_ﬁ\u/cm\_m_m_ﬂu_>_%_mm3 ﬁ(._.
1A% Jl1ISD|d ‘|PlaWl ‘'POOM !
.._. _ _ ._. U VINALYW \O _CLO._.®®> DOQNHQ _“Q _h &\MF-P
NO dojdydi b
VSINTHL e4jueD Aoid QAddv
L
F 911G =
O
D 2
o) N \
@ g
O
~0001 ~0001
/wv |
9 5 _
@ ly P =
N 2>
N Ov/
@ 005 |
\Q\ /70w
W b ——— 5 %
= 006 | Ogy i
S
OOov O ]
O ~
. 4/
0051 U
Wv
/ —
S w
& 8
B 9118 ~
paIo Al8JS
€ [4 L




81 4O € 133HS 09:1 :3TvOS _ IHOIPIM
” pPWNIOH [0£5/ i
v 211S|d ‘[PIBW ‘POOM ‘PIOA 80y NIAS|O UNf
HSPIG 1Y P VRELYW ‘6 IUIOJOBA DOQNH_.Q_“_.Q _n_l &M_.F
NO dojdidi] >
VSI¥IHL 24usD Aold
‘NOILJINOS3a 610Cv0CL oSsPgsy'W NMYd
NOISIAIY 3lva JANLVNDIS JWVN
MNN EI_ WWVYIODOTIA NI JdV LTHOIIM
“ON OM / $3BNON Lavd S SIS ST
W09 UoiopuUNoy Jo yidap
/C81 09¢1 ocll LELE 2891
N
(@)
(0,8
(@]
[ ——|
J
(@)
N
R Vs
”.. | | //_\ ﬁ
DY w
= Ay 0
(——p S, - O i
- (D) ‘l H ®
H | | a I
(@51 AO
mm —e—9,
= - = - -
e 1444 S 1444
| /M _
NP2 7
- o) a 1
X _ N
(@) (@)1
MmN M
N %, N
4 d
o
N
~O
8¢9l 6¥S1 0zl 09¢ 1 bve -
- oL18 ~

uoljopuUNoO)




2 3 4
] . A
L\ =7
% 0
N o~
3 N 9 4@
%EY % =
i i o~
. : l _ _ | — i J ||
OW
g}
5116 6418
et | B
\\\
\;
I c
i
r#q% """"
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE N KLOGRAMM LM223
NAME SIGNATURE DATE REVISION
DRAWN| M.Rebase 12.04.2019 DESCRIPTION:
APPVD P|Oy Cenftre THERESA
Tiptiptap OU
T"Pi T' t' t ou Veetomni 9, MATERIAL: :
TX;’P Ip Ip ap Juri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:70 SHEET 4 OF 18




B
c
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM LM 223
NAME SIGNATURE DATE REVISION
DRAWN| M.Rebase 12.04.2019 DESCRIPTION:
APPVD Play Centre THERESA
Tiptiptap OU
T"Pi T' t' t ou Veetomni 9, MATERIAL: :
TX;’P Ip Ip ap Juri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
1 2 WEIGHT: | SCALE: 1:60 SHEET 5 OF 18




8140 9 133HS 09:1:31¥08 _ IHOEM
oowWNlUPH [0£5/ ﬁf.—-
144 olsp|d ‘|plaw ‘POOM 'PIOA 80y HIAS|O LN 4,
HsDIG o} P VRELYW ‘6 lUIOJSB A DOQNH.Q _H.Q _I—I nwh-..k
NO dojdydi >
) 4
VSINTHL 84ueD Aoid QAddv.
‘NOILI¥OSIa 81024021 soaRYW  [NMVAQ
NOISIAY va JANLYNOIS INVN
eeewt
“ON DM / ¥38WNN Lavd :Q34103dS ISIMITHIO SSTINN

| ouspd 34 ‘poomAd 2WIDB SIS Jojow yim jpund| Gz
| POOMA|D Jool| ¥z
| olsold Jd ‘|99}S SSOIUIDS 0001"M-056°Y @PIIS|  €¢
| ousold ‘jolew ‘poomAld N00|q pionb apls| zg
4 |98}s pajuind IoJpudy| |7
Z ousp|d 34 ‘POOMAID ‘pOOM dwboll 0z
I POOM P3LDUILID| SIDIS| 41
| olsoid 34 g 2wob s||fs Jojow| 8|
I olsoid 34 V Wb S||Xfs Jojow| /|
| |994s pajuiod coanjl 9|
l |94s pajuind ¢oan}| Gl
| |94s pajuiod L oany 1
| POOMA|D 91ound| ¢|
| POOMA|D G leund| 7|
| POOMA|D ¥ ound| ||
| POOMA|d ¢ eund| 01
| POOMA|d Z1supd| 4
| POOMA|D | ;oupd| g
% [DloW ‘POOM PBIDUILIDI wiopuod|  /
14 POOM PB]OUID] 0v81X86X86 4sod| 9
| POOM PBIOUIDI 092 1X86x86 §sod| G
| POOM PaOUILD] 009X86x86 §sod|
| POOM PaOUID] 00¥ |X86X86 §sod| ¢
| POOM PaIOUIDI [oASQ UHM 06 1XB86X86 150d| ¢
G POOM P3OUILD| |oASQ UM 001 2X86X86 $s0d| |
"ALO NOILdIOS3Ad JIIWNN L1avd <mw_w__

4 L




81 40 £ 133HS

8:1:31IvOs _ IHOBEIM

OOWNNIOH [0€S/

d’ ‘ PIOA 90y HIAS[O NP
a4 oyspid ‘[ojeUI 'POOM  [PIPA S0d IS :oQN”_.Q_“_.Q_._. &%m.
1sod 0} Buixiy punoib |eyew Buosuuod NO dojdidi]
VSIYIHL e4uaD Apid anddy,
et —
06 X 9 MBIDS POOM| 9
GLIXGLL dod oysoid| G
OW dpD JOAOD jNU| ¥
A70G/NId 0GXG'G MaIOS| ¢
9W JOA0D JNU| ¢ )
05/~ 1 Buixiy punoib pow| | H
"ON
JIAWNN 1aVd WALl
00€ @
‘/_.
i i3
un
i
4
|
[
o
a
< Vs &y € & & ¥
9]2I0U0D K / \
w
o
S i
- ] ] - v/ ¢/ T /N ,M/v
o}
O b ~o ~
S o] .
punolb ~ <.
—
4 € 4 |

O



81 40 8 133HS

SLiLAVOS _ IHOBEIM

144

olso|d ‘[ojeu ‘POOM

SVIR—ILVN

1sod o} wioyio|d Bulyosuuod
VS$3¥IHL a4usD Aoid

‘NOILdINOs3Ia

oOWNIOH [0€5/
'PIOA SDY MIASIO LnP

‘6 IUIOJSBA
NO dojdidi]

odeidndl]

AAddY

610Tv0ClL

SSOASY'W NMYAQd

ECCW
“ON OMA / ¥3GWNN L¥Vd

NOISIAY

dlvd

JANLYNOIS

JWVN

WWYIOOTN NI 3dV LIHOIIM

SHEHIEFWMIW NI 33V SNOISNIWIA

:Q3HID3dS ISIMAFHLO SSIINN

06 X 9 M81DS POOM

986NId O LW tnu doD pawiop

€O9NId 09X0 LW HO9

ZIW dpd 1aA0D |nu

G86NIQ OLW $nu

ySO6NIA O LW J2ySom

ZIW 18A0D |nu

— N[O |0\ |O

€O9NId 00 LXO LW 41©9

JIAWNN LdVd

>
=

®
Z

¥ wiojn|d

¢ €7 ,S




‘N
6'5'4'3 P >4

platform 1

platform 2
- ®
Wy, 9
)

\ 1 |”\!a£
\%
<3 h 7
7 f
2
[TEM
NO. PART NUMBER

J—

bolt MT10x100 DIN603

bolt M10x60 DIN603

(A)side board with slot

nut cover M12

NB! bolt M10x70 (item no.9)
are mounted through the panel 1-3
(view sheet 14)

UNLESS OTHERWISE SPECIFIED:

washer M10 DIN9054

DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

nut M10 DIN985

NAME SIGNATURE REVISION

PART NUMBER / DWG NO.:

LM223

nut cover cap M12

DRAWN| M.Rebase

domed cap nut M10 DIN986

APPV'D

wood screw 6 x 90

Tiptiptap OU

NNV A WIN

bolt M10x70 DIN603

2

$ = %
TP, N ou Veetorni 9,
TA%P Ti ptlptap Juri alevik, Rae vald,
75301 Harjumaa

DESCRIPTION:

Play Centre THERESA
connecting three platforms

MATERIAL:

wood, metal, plastic A4

WEIGHT: | SCALE: 1:20 SHEET 9 OF 18



81400l 133HS

oLLEwOs |

IHOBEIM

oOWNIOH [0€5/

; ) \ \ dv,
A4 olispld ‘jojew ‘poom [ me*ow_ww\_,o unr Don_m“_.Q_u—n_ _ ._. nmm..
1sod o} jaund Bulpdosuuod NO dojdydi 2
VS3JTHL 44U Adid
‘NOILJI¥OS3a 610TY0°TL osogsy'W NMVId
NOISIATY lva JANLVYNDIS AWVN
MNN EI_ WWYIOOTIN NI 33V LIHOIIM

“ON OMA / ¥3GWNN L¥Vd

SYFEWIMTIW NI 38V SNOISNIWIA
:Q3HID3dS ISIMAFHLO SSIINN

ZIW dpd JaA0D |nu

G86NIA OLW nu

¥GO6NIA O LW Jaysom

ZLW 18A0D |nu

€09NIA GEXOLW HOg

€09NIA 00LXO LW H109

N M[T|WO|0 N

09Xgy 1oUI0D

J49WNN Ldvd

‘ON
WALl

|]oupd




81 4O Ll 133HS VAREILNJON _ HHORAM
. oPWNLOH [0£5/ ™
144 Jlso[d ‘|PleUl ‘POOM 'PIOA 80y HIAS|O LN
ksl N |16 JUIOJOA Don”_.Q _“_.Q 1L A%k
NO dojdydil >
VS3YTHL 44U Adid
‘NOILdI¥Os3a 610TY0°TL Ssoasy'W NMVId
NOISIAZY lva JINLYNOIS IWVYN
MNN EI_ WWYIOOTIN NI 33V LIHOIIM
YON OMA / 33BN 13V U34S 3MAO SN
L66/NIA OGX8W 0G| €
[C16HO OrX8W H0Q| ¢
Jouloo ousod| |
‘ON
JIIWNN 1avd WALl
0 a
0
N o)
0
|
k|
v




8140 ¢l 133HS

oeiLavos |

IHOBEIM

oOWNIOH [0€5/

144

olso|d ‘[ojeu ‘POOM

SVIR—ILVN

‘6 IUIOJOBA

VSI¥IHL 8lued Aoid

‘NOILdINOs3Ia

NO doidydiy

PIPA S0Y HIAS[O Lnf Don_mu—a_“—n_ 1] Bn

AAddY

610Tv0ClL

SSOASY'W NMYAQd

€CCW

“ON OMA / ¥3GWNN L¥Vd

NOISIAY dlvd

JANLYNOIS

JWVN

WWYIOOTN NI 3dV LIHOIIM
SHEHIEFWMIW NI 33V SNOISNIWIA
:Q3HID3dS ISIMAFHLO SSIINN

ZIW dpd J8A0D |nu

o

GB6NIA OLW nu

Ol -1

¥GO6NIA O LW J2ysom

ZIW 18A0D |nu

CONId OC IXOLW HoQ9

gW doD 18A0D [NnuU

G86NIA 8W nu

QW JSA0D INU

€O09NIA 06X8W 109

N|M| T (WO | O |N|O |0~

L66/NIA O¥X8W O

—

JIAWNN Lavd

®
Z

WALl 9

OL:13JTvOS
d 1Iv13d

/

,
J

FIVOS

Vv 1Iv13d

L' 86 0l




8140 €1 133HS 08:1:3T¥08 _ IHOEM
oowWNlUPH [0£5/ ﬁf.—-
144 olsp|d ‘|plaw ‘POOM 'PIOA 80y HIAS|O LN ’
HsDIG o} P VRELYW ‘6 lUIOJSB A DOQNH.Q _H.Q _I—I nwh-..k
NO dojdydi >
) 4
VSIYIHL a4jusD Aojd QAddv.
‘NOILI¥OSIa 61027021 soaRYW  [NMVAQ
NOISIAY va JANLYNOIS INVN
ECNT ..
“ON DM / ¥38WNN Lavd :Q34103dS ISIMITHIO SSTINN

ZIW dpd J8A0D |nu

GB6NIA OLW nu

¥GO6NIA O LW J2ysom

N | (W0

ZIW 18A0D |nu

COPNI 00 LXOLW Hoq| |

‘ON
J49WNN LdVvd WAall

U

8- L TVOS
Vv 1Iv13ad

~



81 4O 1 133HS 0g:l :3MvOs _ IHOEIM OOC\_D.COI _.OMUWR ﬁ(-—l
: ‘ ‘DIOA D0y MNIAS|O LN
A4 olispld ‘jojew ‘poom I . _cw_ow_um \_, unr DoQN”_.Q_“_.Q _ ._. &M... 7
NO dojdydiy b
) ,
VSI¥IHL 24usD Aoid
ECCWI SIS N S S
“ON ©OMQA / ¥39WNN Lavd “@3EHID3dS ISIMITHLO SSTTINN
986NIA OLW inu dod pawop|  /
GCINIQ OLW Jaysom| 9
ZIW dpD JsA0D jnul ¢
G86NIA OLW Inul ¥ 3
7GO06NIQ OLW Jsysom| ¢
ZIW J8AOD INU| ¢
CONIA OO LXOIW Hoqg| |
‘'ON
JIIWNN 13Vd Wall
{1 B
/
? a
- L

(6 }o8Ys MBIA) 0/XOLW SHOQ
UM g-¢ wioyold o} paxy ¢-| [suod

Ol L3TVOS
Vv v13ad



814061 133HS

EIAREIL/ON _ IHOBEIM

144

olso|d ‘[ojeu ‘POOM

SVIR—ILVN

oOWNIOH [0€5/
'PIOA SDY IASIO LD
‘6 IUIOJSDA

VSI¥IHL 8lued Aoid

‘NOILdINOs3Ia

NO doidydiy

¢

deydndi]  Ren

dy,
’

AAddY

610Tv0ClL

SSOASY'W NMYAQd

€CCW

“ON OMA / ¥3GWNN L¥Vd

NOISIAY

dlvd

JANLYNOIS

JWVN

WWYIOOTN NI 3dV LIHOIIM

SHEHIEFWMIW NI 33V SNOISNIWIA

:Q3HID3dS ISIMAFHLO SSIINN

ZIW dpod JoA0D |nu

G86NIA OLW nu

yGO6NIA O LW J2ysom

COPNIQ O¥ LXO LW 09

986NId O LW tnu dod pswiop

8
/
9
ZIW J9A0D Jnu|l ¢
y
5
c

€O9NIA OGXOLW HOoq

COPNIQ O8XOLW HOoqg| |

J49WNN Lavd

T

OL- L JTVOS
Vv 1Iv13dd

Ol -1 Jd1VDS
4 1v1l3id




81 4O 91 133HS [VAREIN/ON _ HHORAM
” POWNLIOH [0£5/ ™
144 olisp|d ‘[plaw ‘poom 'PIOA 80y HIAS|O LN
ysoid ‘|pjew ‘p e | g oraen 1 odeydndi] B
NO dojdydi >
1 ,
VS3YTHL 44U Adid
‘NOILJI¥OS3a 610TY0°TL osogsy'W NMVId
NOISIATY lva JANLVYNDIS AWVN
MNN EI_ WWYIDOTIN NI FdV LHOIIM
YON OMA / $3BNIN Lavd U34S 3MAO SN
ZIW dpD JSA0D |NnU| ¥
[ZGNIQ 0/X0 | M8I0S POOM| ¢
7GO6NIA QLW Jaysom| ¢
ZIW J8A0D INU| | ’
"ON
JIIWNN 1avd Wall
o
. , a
" q

OO

N
M

<t
<



81 40 £ 133HS

oeiLavos |

IHOBEIM

144

olso|d ‘[ojeu ‘POOM

1

VId3LYW

VSI¥IHL 8lued Aoid

*NOIL

oOWNIOH [0€5/

‘6 IUIOJSBA
NO dojdidi]

'PIOA S0y HIASIP Lnr

odeidndl]

dldosad

AAddY

610Tv0ClL

ENIENIN

NMYAQd

€CCW

“ON OMA / 339N

NOISIAY

dlvd

JANLYNOIS

JWVN

NN 13vd

WWYIOOTN NI 3dV LIHOIIM
SHEHIEFWMIW NI 33V SNOISNIWIA
:Q3HID3dS ISIMAFHLO SSIINN

€ [Xg'y MOIDS POOM

¢l

gW doD J18A0D |NnuU

!

G86NIA 8W {nu

O

QW JOA0D INU

€O9NId G¥X8W 409

LE6NIA OGXOLW HOQ

ZIW dod 18A0D |nu

G86NIQ OLW +nu

¥GO6NIA O LW J2YSoM

ZIW JaA0D |nu

€O9NIA OC IXOLW Hog

N M| T (O[O | IN|O|O~

€O9NIA O [XOLW HOg

JIAWNN Ldvd

"9pIIs pup |pupnd apis ybnolyl \
9|0y WIWG'G [P Of juppodull st {1/

GL:13JTvOS
Vv 1Iv13d

67 7

9
g
14
&

GL:1JTvOS

21Iv1ad

8 4 1v13id

GL:13JTvOS




81 40 8l 133HS EAREIN /N _ HHORAM
g POWNLUOH [0£5/ ﬁ(._.
44 Jlso[d ‘|PleUl ‘POOM 'PIOA S0 S| UOf ’,
HsDIG o} P VRELYW ‘6 lUIOJSB A DOQNH.Q _H.Q _I—I nwh-..k
[supd oy ssp|BAds BulposuuoD NO doididi] s
VS3YTHL 44U Adid
‘NOILdI¥Os3a 610TY0°TL Ssoasy'W NMVIQ
NOISIAZY lva JINLYNOIS IWVN

MNN EI_ WWYIOOTIN NI 33V LIHOIIM

“ON OMA / ¥3GWNN L¥Vd

SYFEWIMTIW NI 38V SNOISNIWIA

:Q3HID3dS ISIMAFHLO SSIINN

7GO6NIA O LW Joysom

Z W dpd JoA0D |NuU

Z W J8A0D INu

G86NIA OLW {nu

/_mcoo_

€09NId 09X0 LW Ho9g




